



Jacobiko smednice:

$$\vec{q}^{(1)} = \vec{p}^{(1)} - \vec{p}^{(0)} \equiv \vec{r}$$

$$\vec{q}^{(2)} = \vec{p}^{(2)} - \frac{1}{\underbrace{m_0 + m_1}_{m_1}} [m_0 \vec{p}^{(0)} + m_1 \vec{p}^{(1)}] \equiv \vec{R}$$

$$\vec{q}^{(0)} = \frac{1}{\underbrace{m_1 + m_2 + m_0}_{m_2}} [m_0 \vec{p}^{(0)} + m_1 \vec{p}^{(1)} + m_2 \vec{p}^{(2)}] \equiv \vec{T}$$

nine inverse vztahy

$$\begin{aligned} \vec{p}^{(0)} &= \vec{q}^{(0)} - \frac{m_2}{m_1} \vec{q}^{(1)} - \frac{m_2}{m_2} \vec{q}^{(2)} = \\ &= \vec{T} - \frac{m_1}{m_1} \vec{r} - \frac{m_2}{m_2} \vec{R} \end{aligned}$$

$$\begin{aligned} \vec{p}^{(1)} &= \vec{q}^{(0)} + \frac{m_0}{m_1} \vec{q}^{(1)} - \frac{m_2}{m_2} \vec{q}^{(2)} = \\ &= \vec{T} + \frac{m_0}{m_1} \vec{r} - \frac{m_2}{m_2} \vec{R} \end{aligned}$$

$$\vec{p}^{(2)} = \vec{T} + \frac{m_1}{m_2} \vec{R}$$

Nyni nine

$$L = \frac{1}{2} \sum m_i \dot{\vec{p}}^{(i)} \cdot \dot{\vec{p}}^{(i)} - U$$

$$U = -G \left( \frac{m_0 m_1}{\Delta_{01}} + \frac{m_0 m_2}{\Delta_{02}} + \frac{m_1 m_2}{\Delta_{12}} \right)$$

$$\frac{1}{2} \sum m_i \dot{\vec{p}}^{(i)2} = \frac{1}{2} m_0' \dot{\vec{T}} \cdot \dot{\vec{T}} + \frac{1}{2} m_1' \dot{\vec{r}} \cdot \dot{\vec{r}} + \frac{1}{2} m_2' \dot{\vec{R}} \cdot \dot{\vec{R}}$$

$$\text{kde } m_0' = m_2 = m_1 + m_2 + m_0$$

$$m_1' = \frac{m_0 m_1}{m_0 + m_1}$$

$$m_2' = \frac{m_1 m_2}{m_2} = \frac{(m_0 + m_1) m_2}{m_0 + m_1 + m_2}$$

$$\text{sym. } X_0 = \frac{m_0}{m_0 + m_1}$$

$$X_1 = \frac{m_1}{m_0 + m_1}$$

$$\circ \Delta_{01} = |\vec{p}^{(1)} - \vec{p}^{(0)}| = |\vec{r}| = r$$

$$\circ \Delta_{02}^2 = (\vec{p}^{(2)} - \vec{p}^{(0)}) \cdot (\vec{p}^{(2)} - \vec{p}^{(0)}) = (\vec{R} + \frac{m_1}{m_1} \vec{r}) \cdot (\vec{R} + \frac{m_1}{m_1} \vec{r})$$

$$= R^2 + 2X_1 \vec{r} \cdot \vec{R} + X_1^2 r^2$$

$$\circ \Delta_{12}^2 = (\vec{p}^{(2)} - \vec{p}^{(1)}) \cdot (\vec{p}^{(2)} - \vec{p}^{(1)}) = (\vec{R} - \frac{m_0}{m_1} \vec{r}) \cdot (\vec{R} - \frac{m_0}{m_1} \vec{r}) =$$

$$= R^2 - 2X_0 \vec{r} \cdot \vec{R} + X_0^2 r^2$$

$$L = \frac{1}{2} m_0' \dot{\vec{T}} \cdot \dot{\vec{T}} + \frac{1}{2} m_2' \dot{\vec{R}} \cdot \dot{\vec{R}} + \frac{1}{2} (m_0 + m_1) X_1 X_0 \dot{\vec{r}} \cdot \dot{\vec{r}}$$

$$+ G \left( \frac{m_0 m_1}{r} + \frac{m_0 m_2}{\Delta_{02}} + \frac{m_1 m_2}{\Delta_{12}} \right)$$

$$\dot{\vec{T}} = \text{konst.}, \quad \dot{\vec{T}} = \vec{A}t + \vec{B} \equiv 0 \quad (\text{CM system})$$

# Legendre's Rule

(#3)

$$(1 - 2\alpha x + \alpha^2)^{-1/2} = \sum_0^{\infty} P_n(x) \alpha^n$$

$$P_0 = 1$$

$$P_1 = x$$

$$P_2 = \frac{1}{2}(3x^2 - 1)$$

$$P_3 = \frac{1}{2}(5x^3 - 3x)$$

⋮

4.

$$\frac{1}{\Delta_{02}} = \frac{1}{R} \left[ 1 + 2X_1 \frac{r}{R} \cos \gamma + X_1^2 \frac{r^2}{R^2} \right]^{-1/2} =$$

$$= \frac{1}{R} \sum_0^{\infty} P_n(\cos \gamma) \left( -X_1 \frac{r}{R} \right)^n =$$

$$= \frac{1}{R} \left\{ 1 + X_1 \frac{r}{R} \cos \gamma + \frac{1}{2} X_1^2 \frac{r^2}{R^2} (3 \cos^2 \gamma - 1) + \dots \right\}$$


---

$$\frac{1}{\Delta_{12}} = \frac{1}{R} \left[ 1 - 2X_0 \frac{r}{R} \cos \gamma + X_0^2 \frac{r^2}{R^2} \right]^{-1/2} =$$

$$= \frac{1}{R} \sum_0^{\infty} P_n(\cos \gamma) \left( X_0 \frac{r}{R} \right)^n =$$

$$= \frac{1}{R} \left\{ 1 + X_0 \frac{r}{R} \cos \gamma + \frac{1}{2} X_0^2 \frac{r^2}{R^2} (3 \cos^2 \gamma - 1) + \dots \right\}$$


---

4.

$$\frac{m_0 m_2}{\Delta_{02}} + \frac{m_1 m_2}{\Delta_{12}} = m_2 (m_0 + m_1) \left[ \frac{X_0}{\Delta_{02}} + \frac{X_1}{\Delta_{12}} \right] =$$

$$= \frac{m_2 (m_0 + m_1)}{R} \left[ 1 + \overset{(\text{dip})}{\phi} + \frac{1}{2} X_0 X_1 \frac{1}{2} \left( \frac{r}{R} \right)^2 (3 \cos^2 \gamma - 1) + \dots \right]$$

$$= \frac{m_2 (m_0 + m_1)}{R} + (m_0 + m_1) X_0 X_1 \frac{m_2}{2} \left( \frac{r}{R} \right)^2 (3 \cos^2 \gamma - 1) + \dots$$


---